Magic Square

Can you change the numbers in the square to make each row, column and diagonal add up to 12? Hint: use each of the numbers 0 to 8 once.
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When you have worked it out…

. . . add your name heres  (     
Now print out the page by clicking on the picture of the printer icon [image: image1.wmf] at the top of the page.

Notes for teachers:

One solution is:
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Other solutions which are rotations or reflections of this are also possible.
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To make the puzzle easier replace some of the drop-down forms in the table with numbers. First unlock the forms with the padlock icon on the forms toolbar under the View… Toolbars menu. Next highlight the cell you want to change to a fixed number and type the number you want. The more you put in the easier the puzzle becomes. Once you have 2 numbers in one row and one other the puzzle can be solved step-by-step. Remember to lock the forms again if you make any changes, so that the drop-down forms work. As an intermediate step you could put the 4 in the middle square. 

Lesson suggestion

Use a large version of this puzzle as part of an oral/mental starter. Complete the square to 12 with the whole class, and ask for other combinations of numbers that total 12 (e.g. using doubles, e.g. 3+3+6; 4+4+4; 5+5+2).

Then give the class the MagicSquare15 puzzle. For this they should use each of the numbers from 1 to 9 once. One group could attempt it in pairs on screen (if you only have one computer get them to solve it on paper and record and print their solution). For another group give them two given numbers (a corner number and one in the centre of an opposite side still provides a challenge). 

For a third group give them three fixed numbers and the others that they need on cards with a little piece of blu-tack on the back. 

They do not usually realise that an easy way to solve the puzzle to 15 is to add 1 to each box in the square from the solution to the 12 square.

As a challenging extension for higher attainers ask them what total a square t with the numbers 2 to 10 would have (i.e. 18). As a challenge for lower attaining pupils ask them to use doubles and a third number to add up to 15 (there are 7 to find from 1+1 +13 to 7+7+1).
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